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Question Number : 1 Question Id : 2549896239 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Data that is copied from an application is stored in the

Options:

1. = driver

2. = terminal
3. = prompt
4. v clipboard

Question Number : 1 Question Id : 2549896239 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Tk UTollehelel & SHINT Blel dTell 3T H T AT B

Options:

1. % ZEaAT
2. % TiHAT

3. = Y&
4. v Seusis

Question Number : 2 Question Id : 2549896279 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: O

MS Word is an example of:

Options:

1. = an operating system

2. = a processing device

3. v an application software
4. = an input device

Question Number : 2 Question Id : 2549896279 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 WrongMarks: 0



MS Word T Tk 3SIEI0T &

Options:

1. » Ueh HTRTcer aeeH
2. = U qrarEer fsarsd
3. v UTolloheld HIFEdIN
4. = TF ZAYC GRS

Question Number : 3 Question Id : 2549896308 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Which of the following is an example of a volatile memory?

Options:

1. » CD-ROM
2. v RAM

3. * ROM

4. » Hard disk

Question Number : 3 Question Id : 2549896308 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

foret & @ *ia 3R THT &1 vF Seedor &7

Options:

1. = TE-0F (CD-ROM)
2. v FEfeEd ATHITA T (RAM)
3. = Fdel TSAT THM (ROM)

4. = ge =5

Question Number : 4 Question Id : 2549896349 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

Ueh YehreT-Odcateliel Ual ST 2asy &l

Options:

1. v o3 e
2. % SligEed




3. % o< Fehlel

4, % SRS Tahall

Question Number : 4 Question Id : 2549896349 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

A is a light-sensitive pen-like device.

Options:

1. v light pen

2. = joystick

3. = touch screen

4. = harcode scanner

Question Number : 5 Question Id : 2549896552 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

NERQO software is used for:

Options:

1. = Formatting hard drive

2. = Connecting to the Internet
3. = Printing

4. v Burning €CDs and DVDs

Question Number : 5 Question Id : 2549896552 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

NERO ®i¥eday T 3TN oFd & & oraer T opam Jrar §7

Options:

1. = g8 g13d Widc wlad g
2. * 3T H haldc el 8
3. = FEOT

4. v CDs 3t DVDs afeldr g

Question Number : 6 Question Id : 2549896601 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

Laser printer resolution is specified in terms of:




Options:

1. v DPI
2. » LPM
3. = CPM
4. » LSI

Question Number : 6 Question Id : 2549896601 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: O

ool TeT ehod, Toidat H & Tordeh @t H folfese &7

1. v DPI
2. = LPM
3. = CPM
4. = LS|

Question Number : 7 Question Id : 2549896265 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: O

A blinking indicator in Word document that shows you where
your next action will happen is called a

Options:

1. » CPU

2. v CUrsor
3. = tool bar
4. = boot

Question Number : 7 Question Id : 2549896265 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 WrongMarks: 0

Word STFRIHS H 3TThT 319Tell fshaT gl groil Ig geifel arelm
v fenfemmar dhas g T

Options:

1. = CPU
2. v HOT



#

EIRY

3. % g
4.« g

Question Number : 8 Question Id : 2549896282 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Which of the following terms is NOT assoclated with
spreadsheet software?

Options:

1. » Worksheet

2. = Cell

3. * Formula

4. v Virus detection

Question Number : 8 Question Id : 2549896282 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 WrongMarks: 0

farTlellET esal & Sl @T oo Ti=gelic OivedaT O gafaa
aal &7

Options:

1. % gpeAT

2. = Tol

3. % TATHCT

o,

4. v G e

Question Number : 9 Question Id : 2549896358 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: O

farst 7 & Hia @7 Feger wEnA fadell & @ Fe & fov
AT A hl fAGer 3T &7

Options:

1. » [¥er e
Q.Jﬁﬂqﬁi
3. = HCLEls



4. « grETeoed FTHITA THT(RAM)

Question Number : 9 Question Id : 2549896358 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 WrongMarks: 0

Which of the following instructs the rest of the computer how
to carry out a program instruction?

Options:

1. = System unit
2. v Control unit
3. = Motherboard
4. » RAM

Question Number : 10 Question Id : 2549896394 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

AART & G99 # CD-RW &7 T 3 §7

Options:

1. v Oia-{RTseddr (CD-Rewriteable)

2. = drar-{isser (CD-Readable)

3. = @E-UH (CD-ROM)

4, » HAE-Rs Tse (CD-Record Write)

Question Number : 10 Question Id : 2549896394 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

WIith respect to memory, CD-RW stands for:

Options:

1. v CD-Rewriteable
2. » CD-Readable

3. = CD-ROM

4. = CD-Record Write

Question Number : 11 Question Id : 2549897615 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

Uk Foirace (FETS) H hdell Weera Hierar glar &7




Options:

1. v 12
2. % 10
3. % 13
4. » 8

Question Number : 11 Question Id : 2549897615 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

How many function keys are there in a keyboard?

Options:

1.+ 12
2. % 10
3.% 13
4, % 8

Question Number : 12 Question Id : 2549897642 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

printers work like typewriters.

Options:

1. v Impact

2. * Non-Impact
3. = Laser

4. = Optical

Question Number : 12 Question Id : 2549897642 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

e esuTsel T dE F1H = &l

Options:

1. v SFdFC

2. % dAld-SFuFe

3. = Bl




4. % 3tehol

Question Number : 13 Question Id : 2549897313 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

XFS was developed by which company?

Options:

1. = Microsoft

2. = Sun Microsystems
3. = DCE

4. v SGI

Question Number : 13 Question Id : 2549897313 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

XFS 1r8 *9ell of Taerfad forar am?

Options:

1. = ABHEFe (Microsoft)
2. » el ATSHIAETEH (Sun Microsystem)

3. = 3@ (DCE)
4. v THAIAE (SGI)

Question Number : 14 Question Id : 2549898412 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

MS Excel 2010 & hid AT waeTd sleT H<AT [GdI0T Hereld
adr &7

Options:

1. » BETADIST herelel
2. v BETA.DIST werelel
3. * BETACDIS Werere
4. = BETACUMD WeFelel

Question Number : 14 Question Id : 2549898412 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0



Which function returns the beta cumulative distribution
function in MS Excel 20107

Options:

1. = BETADIST function
2. v BETA.DIST function
3. = BETACDIS function
4. » BETACUMD function

Question Number : 15 Question Id : 2549898667 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

MY 3T sheeh (OpenOffice Calc) # Wherelad ROW(B3) T
T 3T3¢YC BT

Options:

1. % 1
2. % 2
3. v 3
4. % 4

Question Number : 15 Question Id : 2549898667 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

What will be the output for the function ROW(B3) in an
OpenOffice Calc?

Options:

1. %1
2. % 2
3.v3
4 %4

Question Number : 16 Question Id : 2549896285 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0



BISel o AT TH EEE Bgel i e H

TERIAT T &l

Options:

1. = TR
2. = UHHH
3. v Y9gdled
4, = e

Question Number : 16 Question Id : 2549896285 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Meaningful filename helps in easy file

Options:

1. = storing

2. % accessing

3. v Identification
4. = printing

Question Number : 17 Question Id : 2549896538 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

SANG # slcafehar & foIv oot & @ shie @1 3ugFd &2

Options:

1. = WAN
2. v LAN
3. = MAN
4. = BAN

Question Number : 17 Question Id : 2549896538 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Which of the following is suitable for networking in a
building?

Options:



1. » WAN
2. v LAN
3. = MAN
4. = BAN

Question Number : 18 Question Id : 25498910850 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

feer # & Trg Basg &7 393197 BTeicel 5T I hEe W
oaTer wid & FaRT e & forv forar Smar 82

Options:

1. = FIS 9
2. v TolleT
3. » H3H
4. = T Yool

Question Number : 18 Question Id : 25498910850 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Which of the following devices is used for transforming
digital information into pictorial form on paper?

Options:

1. = Card punch
2. v Plotter
3. = Mouse
4, = Touch panel

Question Number : 19 Question Id : 25498911094 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

dehH T &7

Options:

1. » Ig Ueh JIFcdIT g

2. = Ig Uk HHAIITL &I




S_J?JB'WBT?@?‘:IT%'I
4_%ﬂgwaamm%|

Question Number : 19 Question Id : 25498911094 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

What is a webcam?

Options:

1. = It is a software.

2. » It is a firmware.

3. v Itis a hardware.

4. = It is a web application.

Question Number : 20 Question Id : 25498913358 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

When data is processed, organised, structured or presented in
a given context so as to make it useful, it is called

Options:

1. » unstructured data
2. v information

3. = raw data

4. = superior data

Question Number : 20 Question Id : 25498913358 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

SIS 3T T JOMST, Torfed, e ar rdr v arv gt &
T foram SITar & AifeR 38 TR ST ST @, 99 39
FET ST &l

Options:

1. = 3GITST 3T
2. v SITelehNT
3. » ATAT () 3aT



4. » ITIH (FITRIT) ST

Question Number : 21 Question Id : 25498913770 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

1s the output of decryption algorithm.

Options:

1. = Ciphertext

2. » Abnormal text
3. v Plain text

4. = English text

Question Number : 21 Question Id : 25498913770 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

RIS (TToRvereT) TealRyA FT 9RONA (3M3¢YE) &

Options:

1. » O

2. % HTATT SHEC

3. v TIET ¢HC

4. % 3T THFEC

Question Number : 22 Question Id : 2549896319 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

fdest A & IP 9aT T U7 9 F1 87

Options:
1p. x Fldc VA" UgH
2. v 3cTeie Uikl Uad
3. % Sclac Wassy vgd
4. = FILaic Yhe U3H

Question Number : 22 Question Id : 2549896319 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

Which of the following is the full form of IP Address?

Options:




1. = Internet Process Address
2. v Internet Protocol Address
3. = Internet Provider Address
4. = Internet Packet Address

Question Number : 23 Question Id : 2549897335 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Microsoft Visio STRIEITH &dldel sl dgold & Tolv &id I
WSSl BiHe T 3TN T ST §7

Options:

1. = vdsoc
2. = mvsd
3. v vsd

4. = ysdoc

Question Number : 23 Question Id : 2549897335 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Which file format is used to save Microsoft Visio diagram
document?

Options:

1. = vdsoc
2. » mvsd
3. vvsd

4. = vsdoc

Question Number : 24 Question Id : 2549898193 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

TITIAAT T AT T AT T

Options:

1. = TeaRH
2. v Heay




3. = Aol
4. = KA

Question Number : 24 Question Id : 2549898193 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Spyware 1s also known as:

Options:

1. = Antivirus
2. v Malware
3. = Malil

4. » Command

Question Number : 25 Question Id : 2549898212 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Apple FTeT H, “BOMB” Tsh T ]

Options:

1. % QIETH

2. = WICIhlel
S.J?ljﬁ'(W)
4. = T (AUE)

Question Number : 25 Question Id : 2549898212 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

In Apple computers, “BOMB” is a type of:

Options:

1. = program
2. = protocol
3. v error

4. = method

Question Number : 26 Question Id : 2549898359 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0



Uk BT AT WA & o8 ATl foaad HT 9l
el & W T Wik fohaT ST Rl &

Options:

1. = §& folT (boot linker)

o,

2. v §¢ ¥T AT (boot strap loader)
3. = §¢ GFad (boot sequence)
4. = §e¥¢T (bootstrap)

Question Number : 26 Question Id : 2549898359 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0

1s a small program which can be activated immediately
after a micro controller has been powered up.

Options:

1. = Boot linker

2. v Boot strap loader
3. = Boot sequence
4. = Bootstrap

Question Number : 27 Question Id : 25498913361 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

IMTHAGN 9T 39T T STl Tl USTUT hITSaT JleTall &

Options:

1. v EhdHe hIfsT
2. % Tggof oIS
3. = Slieldal shifgar
4. » TqHA HIfSaT

Question Number : 27 Question Id : 25498913361 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

1s a commonly used entropy coding scheme.,

Options:



1. v Huffman coding
2. * Newton coding
3. » Johnson coding
4. = Tapman coding

Question Number : 28 Question Id : 2549899527 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

What problem could be seen when you install a wrong driver?

Options:

1. = Refuses to print

2. = Printing takes longer time
3. v Prints garbage

4. = Printer is smeared

Question Number : 28 Question Id : 2549899527 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

SI§ 39 ITeld 35aY Ia¥eldl d & df 39 Fg Wk FI
TALAT 3 Oha &7

Options:

1. = T€ FTal T AR FHLaAT

2. » TOfcar 31feer @aT oldr &

3. v Mo e &1 & (Prints garbage)

4, » el T &1 & (Printer is smeared)

Question Number : 29 Question Id : 25498910802 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

sic HAf¢ra & Telw dehfedsh oTH &l
1@fﬁ?rfﬁa
2. = Uof TeT

3. % olSel WX



4. % HdT WeT

Question Number : 29 Question Id : 25498910802 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Alternate name for dot-matrix printer is:

Options:

1. ¥ pin printer

2. = page printer
3. # line printer
4. = COPY printer

Question Number : 30 Question Id : 25498918448 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Which of the following printers is sold popularly in today’s
market?

Options:

1. * Dot matrix

2. v Inkjet

3. » Character printer
4. = Daisy wheel

Question Number : 30 Question Id : 25498918448 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

faFafeaf@a & 8 Sl @7 W s gl IR # olhivg 9 8
ST ST 87

Options:

1. = 3l AfgFT

Question Number : 31 Question Id : 2549896214 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0



Ueh ISTISC hT BIH U &dar &1

Options:

1. » gad §3T 99
2. % 3MTERT o

3. v UgdTl U

4. = G el O

Question Number : 31 Question Id : 2549896214 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

The ‘home page’ of a website is the

Options:

1. = largest page

2. = last page
3. v first page
4. = most colorful page

Question Number : 32 Question Id : 2549896218 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Tk A U H AAR W e 3iv s-Ad @aT #

ATH BT & ST 3UAhdl o Soldeilaleh UIte MITHY Sl ]

USgd AT &l

Options:

1. v @
2. = #
3. = &
4, = %

Question Number : 32 Question Id : 2549896218 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0



An e-mail address typically consists of a user ID followed by
the sign and the name of the e-mail server that
manages the user’s electronic post office box.

Options:

1. v @
2. % #
3. % &
4, = *

Question Number : 33 Question Id : 2549896659 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

Teh PowerPoint sieeel # @l Tarsst # U A

SFA3e8 BT (SHT) eIl T TaH THT ARl FAT &7

Options:

1. = AT FASsH I BT STel ™

2. v To3s AT # TsoHfH ofd &1 aien™a a3k
3. = UgZoll Toll38 W BT STal

4. » AT TS UL BT hIUT ek

Question Number : 33 Question Id : 2549896659 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

What is the best way to create a uniform background image
for all slides of a PowerPoint presentation?

Options:

1. = By Inserting an image on all slides

2. v By defining a background image into the slide master
3. » By inserting an image on the first slide
4. = By copying an image to all slides

Question Number : 34 Question Id : 2549897013 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0



MS Excel H 3UARETRATS T FEAYRTRT $T gfc=r
Ueh T ATel hT ST[ATT ST § ST 3ed SUAIehali3il o Faas
T & FTH TRaAT &

Options:

1. % ShIT9aT
2. v ATt
3. = qfecar
4. = FHFqrsieldr

Question Number : 34 Question Id : 2549897013 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

In MS Excel, allows users to bring together copies of
workbooks that other users have worked on independently.
Options:

1. = copying

2. v merging
3. = pasting
4. = compiling

Question Number : 35 Question Id : 2549897378 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

What is the key combination to reduce the size of a selection
in MS Word?

Options:

1. » SHIFT+F6
2. » SHIFT+F1
3. = SHIFT+F9
4. v SHIFT+EF8

Question Number : 35 Question Id : 2549897378 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0



MS Word # T & SRR T hH hlad & TolT im“l Tl

T 87

Options:

1. = SHIFT+F6
2. = SHIFT+FT
3. = SHIFT+FS
4. v SHIFT+F8

Question Number : 36 Question Id : 2549897444 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

In which of the following is the 'Margins’ option available
while printing a document?

Options:

1. = Print preview
2. = Print layout
3. v Page setup

4. = Print setting

Question Number : 36 Question Id : 2549897444 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

forel gTadel &l e g gAY Aefei@a # 8 g &
‘ATToTel Tdehed 3Tclsel &7

Options:

1. = e d=g (Print preview)
2. = T a33c (Print layout)
3. v U 83T (Page setup)
4, = T | (Print setting)

Question Number : 37 Question Id : 2549897455 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0




In the page range of the print option, the numbers 1-3,5,34 are
given. The printer will print

Options:

1. = page number 1, 3, 5 and 34
2. = page number 1, 5 and 34

3. » page number 1, 3, 5to 34

4. v page number 1, 2, 3, 5 and 34

Question Number : 37 Question Id : 2549897455 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

e [JereT A 1-3,5,34 & o7 I H fgu 710 & e g are
UST hiad g7

Options:

1. = ds a&X 1, 3, 5 3R 34
2. = Ul oA 1, 5 30X 34
3.« g7 FA&X 1, 3, 5 & 34

4. v O o 1, 2, 3, 5 3T 34

Question Number : 38 Question Id : 2549897464 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

What is the key combination to move one word to the left in
MS PowerPoint?

Options:

1. « LEFT ARROW

2. v CTRL+LEFT ARROW
3. = ALT+LEFT ARROW
4. « SHIFT+LEFT ARROW

Question Number : 38 Question Id : 2549897464 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

MS PowerPoint # T 26 &l &7 di% &cla & [olT ?I;Trﬁ
gIreTal T &7




Options:

1. = LEFT ARROW

2. v CTRL+LEFT ARROW
3. = ALT+LEFT ARROW
4. = SHIFT+LEFT ARROW

Question Number : 39 Question Id : 2549898048 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

TEITCHS Hedl & TF 30T ol FEd B

Options:
1. » eIl (SohIFe)
2. = SEAES (SIFgHC)

3. v @T-R”T (=)

4. = I (BIHJerH)

Question Number : 39 Question Id : 2549898048 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

A visual illustration of numeric values is referred to as:

Options:

1. » Information
2. » Document
3. v Chart

4. » Formulas

Question Number : 40 Question Id : 2549897158 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

ThIST hl STHETATT I THIBY TE-STHIATIT I
g & 3ok il WaTe LAl &l

Options:

1. = HT=
2. v §d STIyeer




Question Number : 40 Question Id : 2549897158 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

The in Skype gives users a number of ways to look for
fellow Skype users.

Options:

1. = file

2. v search directory
3. » launcher
4. = ]ist

Question Number : 41 Question Id : 2549897427 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

FT 3T TRET SEdde # TRAT o7 [J3fese e W
STeal & STt & fow fopam Srar &1

Options:

1. % =g (View)

2. v gHATR (Bookmark)
3. = B3Wiaer (Hyperlink)
4. = @A (Search)

Question Number : 41 Question Id : 2549897427 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

1s used to quickly jump to a specific location in a
document.

Options:

1. » View
2. v Bookmark
3. » Hyperlink



4. = Search

Question Number : 42 Question Id : 2549897993 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

BHIM app is available in less than languages.

Options:

1. %5
2. %7
3.+10
4, % 3

Question Number : 42 Question Id : 2549897993 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

BHIM oY {3 & FH A ITelsy &

Options:

1. = 5
2. = 7
3. v 10
4. = 3

Question Number : 43 Question Id : 2549898028 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

In MS Excel, chart depicts three dimensions of data.

Options:

1. = XY
2. = doughnut
3. v bubble

4. = stock

Question Number : 43 Question Id : 2549898028 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

ATe, MS Excel &, 3T & didd HTITAT s c2ifar &

Options:




N
A

Question Number : 44 Question Id : 2549898386 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

MS Excel # T Tafald 3scH & oIV eiéehe Hel vafeld
A F ol Folr TASTT FT &7

Options:

1. = SHIFT+F11
2. » SHIFT+F3
3. v SHIFT+F10
4. = SHIFT+FT

Question Number : 44 Question Id : 2549898386 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

What is the key combination to display the shortcut menu for
a selected item in MS Excel?

Options:

1. » SHIFT+F11
2. » SHIFT+EF3
3. v SHIFT+F10
4. » SHIFT+F1

Question Number : 45 Question Id : 25498910461 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

Identify the INCORRECT statement from the below mentioned
options.

Options:



1. = Three different case changes can be applied using
Shift+F3 to whole Word document.

2. = Three different case changes can be applied using
Shift+F3 to selected sentence.

3. = Three different case changes can be applied using
Shift+F3 to selected paragraph.

4. v Three different case changes can be applied using
Shift+F3 to whole folder of different files.

Question Number : 45 Question Id : 25498910461 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

dArd 3Ted&ad Ahedl # & Told el T UgdTd |

Options:

1. » Shift+F3 & 39ANT FF ¥ T& axddet & el 37emT-

3TolET hE YA oe] fhT ST Fehcl &

2. = Shift+F3 T 399RET ek TATeId aTeFd H dlel 3Teldl-379]
8 TRade o] [T ST Hhod &l

3. = Shift+F3 T 3UANRT Fleh TITad WEITE & AT 37eldT-
3ol & URace o] [hT ST Fehct &

4. v Shift+F3 T 3TN Tk T BlesT hl 3TaT-37el9T HIgell
H dleT 3TeldT-37eT FF TRade o] {6 ST G &l

Question Number : 46 Question Id : 25498910630 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

A single spacing point is equal to about how many inches?

Options:

1. » 0.166666666666667
2.% 0
3. # 0.0138888888888889



4 % 12

Question Number : 46 Question Id : 25498910630 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

THarer TUTT dige fohdel 3 & sT& &7
Options:

1. v 0.16666666666666/

2. = B

3. = 0.0138888888888889

4.

® 12

Question Number : 47 Question Id : 25498913281 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

MS Excel 2007, 2010 Tord Wil Taeeld O Hopl-O&H
El‘éh_?ﬁ T IEATT FIAT &7

Options:

1. = _xlsx
2. ¢ Xlsm
3. % Xls

4. = xlxs

Question Number : 47 Question Id : 25498913281 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

MS Excel 2007 and MS Excel 2010 recognises macro-enabled
workbooks {rom the file extension:

Options:

1. » xIsx
2. v Xlsm
3. = XIS

4. » XIXS

Question Number : 48 Question Id : 25498913297 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 WrongMarks: 0

are useful for quickly creating unweighted contingency
table.

Options:

1. = Macros

2. » Charts

3. v PivotTables
4. = Functions

Question Number : 48 Question Id : 25498913297 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

. and ¥ 8 gold Ugd MTREHS dTlelehl Sela o
fore 3Tl &

Options:

1. = Hepr (Macros)

2. = °¢ (Charts)

3. v TWae arfelsre (PivotTables)

4. = weFered (Functions)

Question Number : 49 Question Id : 25498910492 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

The Capitalize first letter of sentence option in the
AutoCorrect is same as the option In the change case.

Options:

1. v Sentence case
2. = Title case

3. * Lowercase

4. = Uppercase

Question Number : 49 Question Id : 25498910492 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0



el F¥dFe H dATFT & Ugal &L hI hiUcaASel Y [dehed hd
sgel H TeT & AT B

Options:

1. v &g g
2. = fMSF g
3. » W3Tehd
4, = 3CUTHY

Question Number : 50 Question Id : 25498910511 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0

Uy &F I forT wHgr # aer =T g

Options:

1. = Teh
2. = g

3. v dried
4. = AT

Question Number : 50 Question Id : 25498910511 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

The Paper tab is divided into group(s) of controls.

Options:

1. = one
2. * two
3. v three
4. = four

Question Number : 51 Question Id : 25498918925 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

ITE 39 TRITRIT glel dTell el Jeceh H HIGNIFE Tcileh el
FT 1@ & o 319 forg eliéhe Fiorat #1 w2 w7

Options:



1. = ALT+CTRL+2
2. v CTRL+ALT+C
3. = CTRL+G

4. = CTRL+SHIFT+L

Question Number : 51 Question Id : 25498918925 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Which shortcut keys will you use if you are providing a
copyright symbol in your book to be published?

Options:

1. « ALT+CTRL+2
2. v CTRL+ALT+C
3. = CTRL+G

4, » CTRL+SHIFT+L

Question Number : 52 Question Id : 25498918931 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

T 3TTa ITS(SES) H SSHA Udieh F8 Wl Hia?

Options:

1. = CTRL+SHIFT+T
2. » CTRL+N

3. v CTRL+ALT+T
4. = CTRL+T

Question Number : 52 Question Id : 25498918931 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

How will you provide trademark symbeol in your text?

Options:

1. « CTRL+SHIFT+T
2. » CTRL+N
3. v CTRL+ALT+T



4.« CTRLAT

READING COMPREHENSION

Section Id : 2549893285

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 1

Number of Questionsto be attempted: 1

Section Marks: 5
Sub-Section Number : 1
Sub-Section Id: 2549893298
Question Shuffling Allowed : Yes

Question Id : 25498914018 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)



AR SAE HefHa= JiSe (S8 IR 1 &fled Fal
arTeir Far BT UEsT THg we og & FRufer grem o sEr o)
¥ @ TEd, 18 S 1981 FTOWE A FEF, B e o
HEAAMdS HIT Ygel I 39908, TR e 7 FE
TFELE (Trae) wiew ST §O ®, T9 3UaE A U A
AET 97 o ST A", TS U HIOTHIOE TEdE 4 w9 A
AT OTET o o0 S 0T 91T =530 & Uge 309 HEETE
¥ Fiew F FIw oF @ @ gr & v a7 wenl der
Wﬁ#mﬁaﬁmﬁmﬁnﬁﬁﬁﬁﬂ,
deahlellad TETaAST ST amedr, & 12 HaEd 1981 T 337 =t
tee @A & Ear AT 58 'WNT F IOE # N ?}Hﬂ?r
T o 7 H EAT TR A g B 3, o9 B o
I T IoTe FaOaT BEH & Had & $=0d SgrET drar
wHEoT feRar )

TE AT F HOWE FEwA J TR 9 A w1 T 47
TS UTOA T WO S SN wAEr & e ST s
Tomd FeiTaat FwAT AT EET Seafer & fror enfdw o
IO & Iedad HIW gl H UEEr S 98y g T
a7 By aer &y varmar #r sterfeeTE aem oA e
IR TEA T FEw = O T TE, deg ST S
dee-sfen fiws gamvans ) gw osm vogs o o
HIW IOUEN o TE<81 @& &1 dfg tdr S Sa8e 3T SEE
= & 303 F 95 9% M F T A 94 e g9
deheitent T TS T T M Tar) siofer o 5
ATETH H EOl-T9T, - TeeHT, IMAT J T ohg, ATIEr
WEt WOTeT HIle S AU HeAvEn aaA fFv

=TT TANT @ T #eTHEr Zt 99T oo oqw T ST ST
AT S 19 RidaT, 1983 &1 WEweT 7 Bar =

FEL # HHT A OEY v IR EE e T8
AR I TSAT = 18 FEE # 59w 3 MiHer s F
AT T F ©0 AT ST 8, SO Uk wEl T ST TET
AT T o e wraae d @ifEG g @ ¥ A
S 2t 56T @ toaw AT feeEe AT farT )

= #r, BEET o TeRiE Sge g TAee - TSEd 20 Ivagh =)

(17 Ty =@ a7 & == F v, g@FeEr, 20 3=, 2016 &
e T TEw &1 PSLY C-34/ Feiie -2 Ol 3w fem
T AHTH 22w, 2016 F AwRerer & B o )




Sub questions

Question Number : 53 Question Id : 25498914019 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

YT T UgST IR 3YIE hal O olled [hdT I-AT AT?

Options:

1. % T e, J.UH.T.
2. v ®F, Wd 7]
3. * SISl HolEEdTel

4, = HERFIE, 9T

Question Number : 54 Question Id : 25498914020 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

SET T UgeT §IR 3998 TR aY died [ohdT =T AT?

Options:

1. = 1975
2. v 1981
3. = 1983
4. = 1985

Question Number : 55 Question Id : 25498914021 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Fldd T FAF VU T Uk TafRIse Fewdr dar 87

Options:

1. » Ig AR T Ugl IIN 3UIg 2T
2. » T TEU C@NT & a¥ o T ST I o)

3. » UG AN dallelehl ZART TAT & H 3Uclsd ATALAT
8 ST IRAT 2T

4. v 0 Wd AT SgRT Al TohaT 137 o)

Question Number : 56 Question Id : 25498914022 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0



VU of 9Rd # oled & & SIadT Seald dal ordar?

Options:

1. * 3eald I dehalleh H WA THT & =TI

2. % 3UTET & BAS, AT 3T TRET H SEIAT hl
IEREEGUEIEGECIKIE]

3. % 3Rl & ATETH & oi-frem, cen-Rferaar 3T 3muar
Yeeel HHT &l AT

4. v AR o FH 3YIAE I Sellad H 3T 20T kT Jelall H K
I feRaT|

Question Number : 57 Question Id : 25498914023 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

ST T SIS I hidd H FRS Seol@aT Fold 67 i
few av Tredt # & Sl ar BT g 57

Options:

1. * SEU o AT FTAT FT G A & o0 v ey Reis
T grar foRar &

2. = SEU TATAT T & 3Toled HATUT hT FHTTIROT IGATT
AT &l

3. * FAMT ARG TATTah! sl ST kT ETH o 227 FT 7T
3T gfaser feeng &l

4. v 2016 H 3YIET FI died hldd & TolT ST FHT FHI5 AR
AToTall el 2Tl

Question Id : 25498914018 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (5310 57)




Indian Space Research Organisation

The Indian Space Research Organisation {ISRO) has become
one of the first picks for countries looking to launch satellites.
The situation was not always like this. Thirty-five years ago,
on 19th June 1981, ISRO successfully launched its first
cormnmunication satellite, Ariane Passenger Pay Load
Experiment (APPLE), from Kourou, French Guiana.
Incidentally, this satellite was transported on a bullock cart,
captured for posterity in an unforgettable photograph, It had
only been six years since Aryabhatta, ISRO'S first satellite,
and the agency was still in its infancy much like the country’s
infrastructure. The then PM Indira Gandhi, who dedicated
Apple to the nation on August 13, 1981, said, it marked the
‘dawn of India’s satellite communication era.” Two days later,
her Independence Day address to the nation from Red Fort
was carried live by Apple.

This was a major milestone in India's space programme as
APPLE was used for several communication experiments,
including relay of the television programmes and radio
networking. APPLE enabled experimentation in advanced
communications technology and established expertise in the
design; fabrication, launch and complicated post-launch
mission manoeuvres for placing and maintaining such a
satellite in peo-stationary orbit. APPLE thus laid the
foundation for indigencus development of operational
communication satellites which grew into a wvery large
constellation of satellites in INSAT and GSAT series that
spurred the country’s technological and economic growth.
Newer applications like tele-education, telemedicine, Village
Resource Centre, Disaster management System elc. were
enabled through space technology.

APPLE was used for nearly two years for extensive
experiments. It was deactivated on Sept 19, 1983,

ISRO maintains an impeccable record with deadlines. While
the agency is known to have built the Mars Orbiter Mission in
18 months, it continued a long tradition and the agency had
designed and built Apple in just two years with limited
infrastructure in Industrial sheds.

Meanwhile, ISRO'S record-breaking mission to place 20
satellites (17 from abroad) in the same orbit, is scheduled for
Monday, 20th June, 2016, The launch of the PSLV -
34/Cartosat-2 series satellite mission is slated for June 22, 2016
at Sriharikota.



Sub questions

Question Number : 53 Question Id : 25498914019 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

Where was ISRQO’s first communication satellite launched
from?

Options:

1. = Cape Canaveral, USA

2. v Kourou, French Guiana
3. = Baikonur, Kazakhstan
4. = Sriharikota, India

Question Number : 54 Question Id : 25498914020 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

In which year was ISRO’s first communication satellite
launched?

Options:

1. = 1975
2. v 1981
3. = 1983
4. % 1985

Question Number : 55 Question Id : 25498914021 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Which statement is NOT a distinguishing feature of APPLE?

Options:

1. = It was the first communication satellite of India.
2. *» [t was made by ISRO within two years.

3. » It was made from locally available materials by Indian
scientists.

4. v It was maintained by French Guiana.

Question Number : 56 Question Id : 25498914022 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0



Which of the following changes were NOT brought to India by
APPLE?

Options:

1. = Experiments in advanced communication technology
became possible.

2. = ISRO’s expertise in designing, constructing and
maintaining satellites was established.

3. = Tele-education, telemedicine and disaster management
through satellites became possible.

4. v India spent much more than other countries in making
this satellite.

Question Number : 57 Question Id : 25498914023 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

What factors make ISRO’'s achievements remarkable? Which
of the options given below is INCORRECT?

Options:

1. = ISRO claims a flawless record for meeting deadlines.

2. = ISRO makes extra-ordinary use of locally available
resources.

3. » ISRO’s team of dedicated Indian scientists have brought
pride and glory to the country.

4. v ISRO had no further plans for launching satellites in 2016.

QUANTITATIVE APTITUDE
Section Id : 2549893286
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 6
Number of Questionsto be attempted: 6

Section Marks: 6



Sub-Section Number: 1
Sub-Section 1d: 2549893299
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 25498914229 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

U gFECR @ T45 9fd Fhell i a7 @ 30 el g @len 38eT Fel AN F40% I50 i fhell 1 ax &
S| 25% THA @13 HiSld el & folv 38 9fd fohal eereeT fofg Fiad o A9 JE1 & dge1 9ifigu?

Options:

1. = T4
2 = 352
3. = 350
4. » 60

Question Number : 58 Question Id : 25498914229 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

A shopkeeper bought 30 kg of wheat at the rate of 45 per kg. He sold 40% of the total quantity at the rate of
350 per kg. Approximately, at what price per kg should he sell the remaining quantity to make 25% overall
profit?

Options:

1 » 354

?2. % 352

3 » 350

4. v %60

Question Number : 59 Question Id : 25498914352 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0



A 320-metre long train crosses a pole in 50 seconds. What is the speed of train?
Options:
1. & 4.6 m/sec

? % 7.2 mfsec
3. & 5.4mfsec

4] « 6.4 m/sec

Question Number : 59 Question Id : 25498914352 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

T 320 HeT 76T TEMEr UF TS & 50 s F 9N & o dr g1 {oemer #r afa rae=r 872

Options:

1.« 4.6 HYTFE (mis)

2y 7.2 FEFFT (mls)

3 « 5.4 FEHFS (m/s)

4. » 6.4 FeydFE (m/s)

Question Number : 60 Question Id : 25498914240 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

'BANKING' e & HeRT o Bras e aiiss & suateyg &ar =1 @&ar 27

Options:

1. = 5040



2 % 2540

3. % 5080

4., v 2520

Question Number : 60 Question Id : 25498914240 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

In how many different ways can the letters of the word ‘BANKING’ be arranged?
Options:
1. & 5040

2
®
|-
£
=
o

3. % 5080

Question Number : 61 Question Id : 25498914248 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

What approximate value should come in place of the question mark (?) in the following equation?

(V339 % 25) +30 =2
Options:
1. = 12

7 o 15



Question Number : 61 Question Id : 25498914248 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

freafaf@a waeor & wea ey (?) & T 90T IgATAT A 47 JHTeET?
(V339 x 25) ~ 30 =?

Options:

T = F2
2. v 15
3. = 24
4 = 21

Question Number : 62 Question Id : 25498914271 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

. . i : 1

Ot of the total number of smdents in a college 12% are interested in SpOrts. 2 of the total number of smdants are
interested in dancing. 10% of the fotal number of students are interested in singing and the remaining 15 stodents are not
interested in any of the activities. What is the total oumber of students in the college?

Options:
1. = 450

25498915027

? & 500

3 % 600

A % Cannot be determined


Yogesh Sikarwar
Stamp


Question Number : 62 Question Id : 25498914271 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

Fad AT g FEm AT 2 v AT mr i o S em rem A 71 50 & T m
%|m#mmﬁ#1ﬂ%mﬂ'ﬁﬁ'rm‘#ﬁmm15ma‘r#rm:fr"ﬁﬁﬁﬂ$ﬁra€%
%‘lmﬁmﬁﬁrgﬁrmﬁ%ﬂ

Options:

1. = 450
2. v 500
3 = 600

4« T FE F T oEEa

Question Number : 63 Question Id : 25498914348 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

Uk good 1 IRTT Tk 3T F IRATT & Il §1 e F

a%aw5544afrﬁama(cm2) gl ATE AT T aas 40
AETHET &, ar 3T T &9%e fohddr T

Options:

1. = 1120 g9t d@AEeT
2. = 1020 T3t HErHART
3. * 1140 Tef FérreT
4, v 1040 Tet HIHRT

Question Number : 63 Question Id : 25498914348 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0




The circumference of a circle is twice the perimeter of a
rectangle. The area of the circle is 5544 sq cm. What is the
area of the rectangle if the length of the rectangle is 40 cm?

Options:

1. = 1120 sq cm
2. * 1020 sq cm
3. * 1140 sq cm
4. v 1040 sq cm

GENERAL MENTAL ABILITY AND REASONING

Section Id : 2549893287

Section Number : 4

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions; 6

Number of Questionsto be attempted: 6

Section Marks: 6
Sub-Section Number: 1
Sub-Section Id: 2549893300
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 25498910034 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

AR g T o §1 Al @elv ersal T Uk ersaeRrer & 3TN

JUITeIshd H A foRaT SIIAT &, dF e T2 0T Fie @
1&g HTIIT?

Options:

1. = Sport

2. v Spouse
3. * Sqguash
4. = Sporadic

Question Number : 64 Question Id : 25498910034 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 WrongMarks: 0

Which of the following words will come third if all of them
are arranged alphabetically as in a dictionary?

Options:

1. = Sport

2. v Spouse
3. = Squash
4. = Sporadic

Question Number : 65 Question Id : 25498910122 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

ffei@a A, © & v TWE Y 9D QT esal & &9 T
T |og § 31T 0 & gE oH® U g f&ar I m & Seieh
SET ereg T T fashedl # & 38 YR Wit fham ST &,
o ad arar eser o & Slh 38T Uk &l ol A0S & oI
g UhIT &7 O9 8 9 ST & o=l & ST g 3

i o
[ahed ol |

g&T O ; &l Al aAEr ¢ ?

Options:
1. = 78
2. % Slod
3. v AT
4, % IGILOT

Question Number : 65 Question Id : 25498910122 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0



Select the option that is related to the third term in the same
way as the second term is related to the first term.

Ornithologist : Birds :: Anthropologist : ?
Options:

1. = Planets

2. = Animals

3. v Mankind

4. = Environment

Question Number : 66 Question Id : 25498912833 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Instruction: Study the following arrangement of letters, digits
and symbols to answer the question given below:

AB7CDI9ZY*P2ZMOKS3t5NT@

Question: If each symbol of the above sequence is replaced
with a letter and each digit is replaced with new symbol, then
how many letters will be there in the sequence?

Options:

1. =4
2. % 12
3.+16
4, % 17

Question Number : 66 Question Id : 25498912833 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O



& I U T 3ca S o ToIW &R, 3hr 3T Udlehl hr
G CIEC R ER T M G CET T

AB7CDY9ZY*P2MOKSI3ITOSNT®@

Ife 3u=a 3ToTohH oI Ucdeh Udleh Ueh e & ol &l
ST & 3T A% 39 H T A0 Ydieh & el [¢aT I=T &,
ar GOET: A Torda 3787T g

Options:

1. = 4
2. % 12
3. v 16
4. = 17

Question Number : 67 Question Id : 25498912891 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

T oRNE foF hie AT 37&TT-HTem AU a0 oA 7 drefel STl
.y

e H foisheadt e & fig & ©BIg I HER T F&AT
eerreh &1

optons:

1. v SPMJG

2. = SPNLJ

3. = SQOLJ

4. = WUTRQ

Question Number : 67 Question Id : 25498912891 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 WrongMarks: 0

Find out which of the letter-series follows the given rule:
Number of letters skipped in reverse order in between
adjacent letters in the series is constant.

Options:

1. v SPMJG
2. » SPNL]
3. » SQOL]
4. » WUTRQ

Question Number : 68 Question Id : 25498919027 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Which of the following is the same as Lung, Pharynx and
Bronchioles?

Options:

1. v Alveoli

2. = Ribs

3. » Qesophagus
4. = Nephrons

Question Number : 68 Question Id : 25498919027 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

TFafelEd # & AT B, AHaT 3 TH o= ST &7

Options:

1. v GleaATer
x qETeT

.« EET
. ® ahiel

BOwWON

Question Number : 69 Question Id : 25498919861 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0



S T oo AU 9T & 348 @ A oree fhdT aileh & Teh-
HATS 0T aTel & ofehel HIS Ueh T oo 3of ool & e

3dH el (378 Tel) 2sq T TdT o@MT|

Options:

1. v &l
2. = HCT

3. % &

4. = Hepdl ©TET

Question Number : 69 Question Id : 25498919861 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

In each of the following, four words have been given, out of
which three are alike in some manner, while the fourth one
1s different. Choose out the odd one.

Options:
1. v Cliff
2. » {Canyon
3. = Gulch
4. = Gorge
GENERAL AWARENESS
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Section Number : 5
Section type: Online
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Question Number : 70 Question Id : 2549895233 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 WrongMarks: 0

AT # BT (FERA) T forad wfdeania T fear ar &7

Options:

1. = %ar (FEPA)
2. v AT (FEMA)
3. « %hal (FENA)
4. = %eT (FETA)

Question Number : 70 Question Id : 2549895233 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

In India, FERA has been replaced by:

Options:

1. « FEPA
2. v FEMA
3. = FENA
4. = FETA

Question Number : 71 Question Id : 2549895281 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

‘HAE, 91ae AT Ao & & g 19T A foldr a8 o1?

Options:

‘I.JW
2. % 3T
3. = TR
4, = Yrell

Question Number : 71 Question Id : 2549895281 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

In which language was the ‘Shrimad Bhagavad Gita’
originally written?

Options:

1. v Sanskrit



2. = Apabhramsa
3. » Prakrit
4. = Pall

Question Number : 72 Question Id : 2549895471 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

RIS ol 3 o hITRhT 3T 30Ideh @07 Sl FAT FHal
ST 87

Options:

1. v TqI9eIfad
2. = UTolar
3. = faSteriere
4. = Zch&Td

Question Number : 72 Question Id : 2549895471 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

The cellular and molecular control of programed cell death Is
known as:

Options:

1. v Apoptosis

2. = Apeing

3. » Degeneration
4. = NeCrosis

Question Number : 73 Question Id : 2549899817 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

farafal@a 3@t A @ fhga ggelr IR '#erae T &1 33eir
A 3feqare foRam ar?

Options:

1. = QfeHE AT

2. v dred afeswd




3. % 3olFaisy hiaoH

4. = Siel AT

Question Number : 73 Question Id : 2549899817 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Who amongst the following Englishmen first translated
‘Bhagavad Gita’ into English?

Options:

1. = William Jones

2. v Charles Wilkins

3. » Alexander Cunningham
4. = John Marshal

Question Number : 74 Question Id : 2549895335 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

el =T # O hid TT TATT H WA T H5F &7

Options:

1. = AT 3T 37ATHSH
2. v Yega¥ A 4T

3. » SealT 3 TUTeRT
4. = T AT Fomram

Question Number : 74 Question Id : 2549895335 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

In which of the following places are deposit Wolfram found?

Options:

1. = Chandigiri and Amarkantak

2. v Chendpather and Degana
3. = Bellary and Radhanagari
4. = Guntur and Hazaribagh

Question Number : 75 Question Id : 25498922836 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0



farafaliEd A & Tf & a1 <16l 81T & W 98 ar ofdm g7

Options:

1. = Tderder (i)
2. %

3. v gIggl
4. = RITE

Question Number : 75 Question Id : 25498922836 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 WrongMarks: 0

Which of the following have NO blood but they respire?

Options:

1. = Cockroach
2. » Earthworm
3. v Hydra

4. » Kangaroo
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Question Number : 76 Question Id : 25498927122 Question Type: TYPING TEST

Summer camps are supervised camps conducted to entertain
as well as equip students with various life skills such as
teamwork, socializing, decision making, independent and
responsible living and more. It aids the overall development
of a child and children have fun during this process as they
get to explore new arenas.
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Preserve e health of your musoular system Dy developing
Irakits that reduce muscle stress and improve muscle function
and strength. ITere is how Strofeh. One type of strotching that
can give your muscle a relaxalicn s stalic strelching, ILhelps
In relazing muscles and bnpreving exdlbiity, For hest results,
forns on cach muscle for ax least thirty seconds once of twice
A day. Siretch after warming up or working out. Novor stroreh
belore you workoul. Resislance Training. Lilling weiglils does
Dot have to be synonymmous with the Lodybuilding balk you
see i magazines, Weipht training strengthens muoscle fibers,
Incroasing your muscle mazs boosts metabolism and gives
slabilization and proleciion Lo joints. Which means youw will
have more enerey and you will burn more calories and Lat
Resistance training does net always have to happen at the
EYTIL. ANY Time you get up and move your bhody and seck to
actively engage your muscles in aclvily means thal yoo are
working on muscle tone and activation and this will help in
maintaining your overall muscle health, Breathing, It is olay
to relax and breathe it out, While lifting weights, romoember
that when you are doing the most work 10 s [he Lime (o
axhale. For example I you are doing a pushup, breathe oul
when vou are pushing, Natarally ever time vou will find that
it iz autermatic for you to exhale during excrtion. Drink Water,
Folks, vou might have heard of bhundeed Gees bual il is 5o
important. Waler Qushes the loxins and bacleria in your
muscles out and decreases jeint pain by Xeeping the cartilage
saft. The bost rule of thumb o know how much water your
body needs 15 o look at the color of your urine when uging
Lhe restroom. Massage. 1do nol need o lell vou hatl massags
15 & powerfid therapy for mouscle health, Massages should
definitely be added tooyour fitness plan if you want to
maximixe resulls and musele recovery. Nal only does it halp
willy muscle recovery. ul ils also benelicial lor improving
range of rootion, dexbidity and muscle tone while helping
them to heal from micro tears and injurics more quickly. But
Tven More Than That, TTere is TTow Massage Roally Makes a
DilTerance Lo Gel You Resulls. Massage helps mainlain muscle
elasticity, performance. response and Jexibilivy through
delivery of heat, Rlood and oxyeen to your muscles and soft
tissnes, Massape thorapy and other physical therapies couplod
willl aclive movement. stralching, and exercize can worls
tepether to maintaln better phiysical performance and help
IeCoVvery more quickly from phoysical injury, Massage helps
Nireak up the Tuye that i3 keeping vour muscles rom
[unelioning properly. A Pracliced Massage Therapisl can
assist you In stretching and flexibility and can reach areas
that are harder to stretch, move, or reach yonrself such as
your low back that is under your shoulder blades, the hiack of
your neck and shoulders and your hamslrings, ele. Yoo can
worly with your cormbortabiity to get your muscles to release,
Therefore frecine up vour muscles o move and act To your
heaet desire wirthout restriction or pain.
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